Department of Mathematics, Statitics and Computer Science
S. Olaf College
Northfield, MN 55057

Attention ALL Seniors!!!!

What will you be doing with your life after &. Olaf

College? School ? Work? Nothing? E-mail ashort

paragraph of your future plansto Kdly (dolank) or
Mikayla(meyerm) by Wednesday, May 9. Here
is an example of what you could write:

Y our Name (your mgor): After school | will be
atending (graduate school of your choice) in the
great state of (date of your choice). | hope to
graduate with adegreein and goonto
become a

Y our Name (your mgjor): After my wonderful
experience at St. Olaf College | decided | am
ready for the “real world.” | will be entering the
work force as an employee for in
the position of

Y our Name (your mgjor): | have no ideawhat |

will be doing. I am moving . "1l get back
toyouinayesr.
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Mark Your Calendars!

The annud meath picnic is coming up on Sunday,
May 13th, from 1 to 3 pm a Sechler
Pak (the one right behind Mat-o-Med). This
year the picnic will be a BBQ, so if you want to
come please SEND YOUR CAF NUMBER b
Kelly Nail fal@golaf.edu) (Ao let her know if
you are vegetarian). In addition, a Ssign-up with be
placed in the math hdlway. At the picnic, the
infamous softbal game againg the professors will
take place... s0 bring your glove and any bats or
balls you have!

Jokes for Geeks..

Q: Do you know why there's never been beer a a
math party?

A: Because you can't drink and derive..
Q: Why do Lumberjacks make good musicians?
A: Because of their naturd logarithms. (dedicated

to Professor Hanson who would have been a
lumberjack if he hadn’t become amath professor)
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Problem of the Week (POW)

Two Questions. Addade and Bruno play the
following game.  Addaide thinks of a polynomid
P, of concedled degree, with non-negative integer
coefficients. Bruno gives Addaide an integer X,
and Addade tells
Bruno P(x). Then Bruno gives Addaide an integer
y, and Addaide tells Bruno P(y). Bruno must then
guess the polynomia P. Find a winning Srategy
for Bruno.

Submit dl solutions before the appearance of the
next problem to Josh Laison in person, by e-mal
(lason@dgtolaf.edu), or by Starfleet
communicator. The first correct solution gets a
prize; dl correct solutions get fame and glory.

Solution to A Weghty, Colorful Problem.
Congratulations to Brendan Bailey, Reid Price, and
Thomas McConville, who dl solved the problem
this week. Brendan won a package of "rocket
balloons."

The folowing solution is due to Thomas
McConville. Label theweightsr 1,r 2,b 1,b 2,
y 1,y 2and assumethat A<B.

First comparer_1+y+1tor 2+b 1.--Ifr 1+y 1
>r2+b 1, thenr 1 =B and r 2 = A. Now
comparey 1+b 1toy 2+b 2. Sincethereare?2
A's and 2 B's among the four weights, if y 1+b 1
>y 2+b 2theny 1andb 1aeBandy 2 and
b 2 are A.
Smilaly if y 1+b 1 <y 2+b 2. If equd, then
y 1 and b_1 are opposites and the first relation
coud only hold if y1 = B and b1 = A.
The casewherer_1+y 1<r 2+b 1 isanaogous.

Ifrl+ty 1=r2+b 1, theny 1=r 2andr_ 1=

b 1. Now comparey 1+b 2tob 1+y 2. Agan,
there are two A's and two B's, and sincey 1 and
b 1 are oppogtes, it is impossble to achieve
equality, so they are either both A's or both B's.

If you would like to submit an article or math
event to be published in the Math Mess, email
meyerm@stolaf.edu or dolank@stolaf.edu.
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